



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$(-2)^{(-2)} - 5 =$$

$$4^2 - 9 =$$

$$(-7)^{(-1)} - 6 =$$

$$7^0 + (-4) =$$

$$5^{(-2)} + 9 =$$

$$(-3)^2 + (-9) =$$

$$(-4) - 8 =$$

$$(-10) - 3 =$$

$$(-4)^{(-1)} + (-4) =$$

$$4^0 + 8 =$$

$$(-9)^{(-2)} + 5 =$$

$$9^2 - 6 =$$

$$1^2 + 8 =$$

$$(-2)^{(-2)} - 8 =$$

$$(-8)^{(-1)} + 1 =$$

$$(-1)^{(-1)} - (-10) =$$

$$(-3)^2 - (-5) =$$

$$6^0 - 1 =$$

$$(-4)^2 - 10 =$$

$$4^{(-1)} + 6 =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$(-2)^{(-2)} - 5 = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$4^2 - 9 = 7$$

$$(-7)^{(-1)} - 6 = \left(-\frac{43}{7}\right) = \left(-6\frac{1}{7}\right)$$

$$7^0 + (-4) = (-3)$$

$$5^{(-2)} + 9 = \frac{226}{25} = 9\frac{1}{25}$$

$$(-3)^2 + (-9) = 0$$

$$(-4) - 8 = (-12)$$

$$(-10) - 3 = (-13)$$

$$(-4)^{(-1)} + (-4) = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$4^0 + 8 = 9$$

$$(-9)^{(-2)} + 5 = \frac{406}{81} = 5\frac{1}{81}$$

$$9^2 - 6 = 75$$

$$1^2 + 8 = 9$$

$$(-2)^{(-2)} - 8 = \left(-\frac{31}{4}\right) = \left(-7\frac{3}{4}\right)$$

$$(-8)^{(-1)} + 1 = \frac{7}{8}$$

$$(-1)^{(-1)} - (-10) = 9$$

$$(-3)^2 - (-5) = 14$$

$$6^0 - 1 = 0$$

$$(-4)^2 - 10 = 6$$

$$4^{(-1)} + 6 = \frac{25}{4} = 6\frac{1}{4}$$